11.7b Surface Area prisms and cylinders with work

Right Prism vs Oblique Prism

Prism: Surface Area

» Lateral: L =Ph /@

. ST = o8
Total: T=Ph + 2B ( }‘Q‘\i

Cylinder: Surface Area

o Lateral: L =2mrh

« Total: T =2rrh + 2
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Example 1 Example 2
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Example 3
« Find the exact surface area of the right « Find the total area of the solid shown.
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cylinder.
L =2mrh or T = 21rh + 2102
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11.7b Surface Area prisms and cylinders with work

Example 5 Example 6
« Find the surface area of the composite figures.
Find the surface area of the composite figure. Round to the nearest tenth.
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Find the surface area of the composite figures.
Find the surface area of the composite figures. 2im o _\—SA ~ @ \ @U\
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Hint: move prism to check answer!!
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The net of a right prism can be drawn so that the Lateral Area and Surface Area of Right Prisms
lateral faces form a rectangle with the same height as The lateral area of a fight prism with base
the prism. The base of the rectangle is equal to the perimeter P and height his L = Fh
perimeter of the base of the prism. The surface area of a righ © with lateral area

L and base area Bis S = L + 25, or S = Ph + 2B.

The surface area of a cube with edge length s is
‘ S = 6s2.
h |

The surface area of a right rectangular prism with
a b c length ¢, width w, and height h can be written as
b S = 2w + 2wh + 21h.

b——"P=a+b+c—
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11.7b Surface Area prisms and cylinders with work

The surface area formula is only true for right
prisms. To find the surface area of an oblique
prism, add the areas of the faces.

Altitude 1
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